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Comparing Lengths
o Complete.
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Rope C

Rope is the shortest.

Rope is the longest.

Rope C is shorter than Rope

Rope A is longer than Rope

Rope A is shorter than Rope C by
Rope B is longer than Rope D by

The total length of Rope A and Rope B is m.

The total length of Rope C and Rope D is m.
The total length of Rope

to the total length of Rope

and Rope is equal

and Rope

taLIVEWORKSHEETS



9 Complete.

Stick A Stick SllckC StlckDStlckE

lal Stick Cis cm long.

(bl Stick and Stick have the same length.
[c] Stick is the longest.

|d) Stick is the shortest.

le] StickCis cm longer than Stick E.

(fl Stick is 2 cm shorter than Stick B.
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O Complete with “cm* or *m".

(a) The height of a refrigerator is about 2

(b) The length of a swimming pool is about 15

(c] Dinais about 8 taller than her brother.

(dl The height of an ice cream cone is about 13

How do you do your worksheet? {write A, B, or C)
L ) e L o
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A. lcan do the worksheet  B. | need a little help C. | need a ot of help
by myself
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